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In any A ABC, the following relationship holds :

m, wn?* /m, w,\* /m, w 3.212 8
(2 (o B
wp, h, hy, w, h.,/ ~3(3R*-32r%)? —512r

m, w.,®> /m, w,\5 /m, w,\°> 3.215 p10
@<_a+_c) +<_b+_> +<_+_b) = 5 52 11,.10
w, h, hy, w, h, 3(81R> — 2560r°)% — 211r
Proposed by Zaza Mzhavanadze-Georgia
Solution by Soumava Chakraborty-Kolkata-India
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NESI N NENCS S
w, h, hy, w, h, 3(81R> — 2560r°)2 — 21110
m, wc)4 (mb )4 (mc wb) 3.212 r8
—a, ¢ —+ =) > d
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m, w,® /m 5 mg wp)\® 3.215 10
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Vv A ABC, equalities iff A ABC is equilateral (QED)
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